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It a man and his wife enter a bus, in which|five seats are
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N how many waan be seated in two chairs?
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The number of ways in which 6 people can be seated at
a round table, is
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The number of words which can be formed from the
letters of the word AX]@UM, If two consonants cannot
occur together, is 7 "] |
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There are four balls of different colours and four boxes of
colours same as those of the balls. The number of ways
in which the balls, one in each box, could be placed such
that a ball does not go to box of its own colour, is
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The ngber of five digits numbers that can be formed
without any restriction is
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